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1. Whick of the following statements about business cycle is correct ?

{a).Cotisuraption is 2 procyclical and leading idicator. (b).Industrial prodisction is a pracyclical and leading indicator.
() Money growth is a procyclical and feading indicator, {d).iominal interest rate is a procyclical and leading indicator.

(2).all are correct.

2. Which of the following changes will be least likely to eccw for a badly hurt economy after the Southeast Asia financial storm ?

{a).THe, currency-deposif ratio will increase. {b). The reserve-deposit ratic will increase.
(c).The nominal money demand will increase. {d). The nominal money sapply will increase, ...
(=).All of the zbove.

3, Which af the fo]lowmg gvents will definitely increase the money supply 7 .

{a).bank runs take place. (0).The domestic currency app :ecmtes
{c).The central bank intervenes the foreign exchange market ta prevent its own currency from dwaluatmg.
{d).The banks become conservative abeout their lending, (2) All of the above,

4. Which of the following transactions does not contribute 10 the current year's GEP 7
(a).The government pays you the interest or1 1he bands you hold.
{b). The government pays vou to do a commercial for keeping kids out of drugs.
{c).'You bonght a used car from a used car dealer whe spent some money cleaning it up.
{d).An automobile manufaciurer has some tires 1eft, which were produced in this year.
{€).21 Japanese firm produces chips in your country and expost them back to Japan.

5. Which event will certainfy cause a decrease in full employment level of employmient and real wage ?
(al.the society experignces another round of baby boom. (b).An increase in Fvestment and outward { immigrations.

(c).technotogical improvement.  {d).carthquake causes severs damage of capitet goods,  (2l.none of the above events.

6. Which of the following explanations does not imply the fact that unemployment is a permanent feature of an economy ?

(s).Jobs and workers are not identical. {b).reallocation of labor from shrinking industries to growing industries.
(c).unskilled workers often are unable to obtain desivable jobs. (dr.Uneroployment is resulted from the ocomrence of recession.

7. Which of the following statements is not a reason behind the explanatiun that technplogical improvemett increases the inequality of 3

wage ¥
(a).tectnological improvement increases the productivity of skilled workers.
(b).technological improvement decreases the productivity of unskiiled workers.
(¢).technological improvement (ncreases the demand for skilled workers.
(d).technological improvement increases the real wage of skilled warkers,
(¢).technological improvement decreases the demand for unskilled workers.

8. Which of the following statemnents is not corect ?
(2} unemployed means a person did not work during the past week but looked for work during the past four weeks.
(b).the unemploymend rate is the fraction of the labor force that is unemployed.
(c).the employment ratio is the employed fraction of the labor force.
{d).the paﬁicipation rate 1s the fraction of the working age population in the labor force.
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Please answer question 3 ta 10 with the following dzta ?

. . . ; . "1‘ I .-.:.‘
year | 2 3 4 %ﬁ@ﬁéﬁ%
N |

unemployment rate B% - 6% T 5%
oukpuk &50 1030 1033.3 11275



Ml ADHEERNT SZMRHE: Rl K22H B2H

9. Assumne that the natural rate of unemployment is 6% and that (¥ — ¥) /¥ = 2.5(u — &), where Y is the output, ¥ s the full

employment cutput under the natural rate, u is the actuai unempleyment tate, and # is tha rlatura] rate uf unemplo]rmant, thﬂn whmh nf

the full employment level of output in ecach year is corrr:ct '? .
{2). ¥ =1000 in the first year. (b] Y 1{13[3 in the semnd yedr.

{c). ¥ =1060 in the third year. @.¥ =1 100 in the forth year,
{2). all are correct. '

10, What is the growth rate of full employment outpud or the second year ¢
(x).0.01. (b).0.02. (c).0.03. {d).0.04. {e).none is comect.

11. Which of the following statements is true if the motey of an open economy with fixed exchange rale systetn is overvalued ?
(a) 1t losses iis Toreign reserves, . : _
(b).]ts money supply is top kigh ccmpamd wnth the level for this fixed exchange rate, oo - —
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{c).If the expectation of devaluation is formed, the excess demand for foreign curmency wilk increase. ' : .ﬁ}:'—-"

{d}).A contractionary monetary pelicy should be adepted to remedy this problem. b
{e).e’dl of the. i l JE__E
) ‘ -.-::r"'a

12. Which of the following events will increase the employment level in the effictency wage model ? i ~
{2).An increase in the labor supply. (b).An increase in the productivity. : ::;
(c). When workers tend to shirk more at all wage rates. {d}). An increase in money supply. ,.lr i

() Mone of themn. . : B
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